Chapter 4, continued

7. No, it is not reasonable to use a direct variation model
. + o pe
since the ratios T would not be the same for the first 5

songs as it would for later purchases.

4.6 Exercises (pp. 256-259)
Skill Practice

1. Two variables x and y show direct variation provided
y=axanda # 0.

2, The line is not a direct variation equation, because it has
a y-intercept of 4. Direct variation equations pass through
the origin and therefore have a y-intercept of zero.

3. Yes the equation y = x represents direct variation because
itis in the form y = ax. The constant of variation is 1.

=

No, the equation y = 5x — 1 does not represent direct
variation because it cannot be rewritten in the form of
¥ = ax.
5, x+y=3

yv=—-2x+3
No, the equation 2x + y = 3 does not represent direct
variation because it cannot be rewritten in the form
y = gx.

6. x—3y=0

—aP= =X
1

¥y ==X
= 2

Yes, x — 3y = 0 represents direct variation, because it
can be rewritten in the form y = ax. The constant of

5% -
variation is 3.
7.8 +2y=0
2y = —&
Y=y
Yes, the equation 8x + 2v = 0 does represent direct

variation because it can be rewritten in the form v = ax,
The constant of variation is —4.

8. 24x+6=12%p
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=2x+5
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No, the equation 2.4x + 6 = 1.2y does not represent
direct variation because it cannot be written in the form
ofy = ax.
9. C3x—Ty=0
Ix—Ty=0
—Ty = —3x
.
y=zx

10. The equation must be in the form v = ax to find the
constant of variation.
—5x+3y=0

3p=>5x

The constant of variation is

Lt |Ln
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